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QUESTION 1

-- Exhibit

user@ils> show routs
inet.d; 3 destinati
holddown, 0 hidden)
+ = Activs Routs,
130000032
2.2.2.2/32

172.10.1.0/24

172.10.1.1/32

224.0.0.5/732

uzexffAl> show ospt
Jun 12 03:33:34
Q5BF databaze,

Tyvre in
Router Z2.2.2.2
Routexr *200.200.20

Hetwork *172.10.1.1
Hetwork *172.20.1.3

user2Rl> show oapf
Jun 12 03:33:46
OSEF database,

Topa D
Router 2.2.2.2
Routexr *200.200.20
Netwoxrk +172.10.31.1
Netwoxk *172.20.1.3

— = Last Aetive, * = Both I

uaszER1l> show ecspf interfacs ge-0/0/1.0 detail
on=, 5 zoutes (5 Ective, 0 Interface State Area DR ID EDR ID Nozra
ge—0/0/1.0 bR 0.0.0.0 200.200.200.200 2.2.2.2 1
LAY, Addrese: 172.10.1.1, Masgk: 255.235.235.0,
MTU: 1500, Coat: 1
DR addr: 172,10.1.1, BDR addr: 172.10.1.2, Priority:
“[Direcs/0] 00:01:10 128
> via lod.0 i
#[osEF/Ll0] 00:00:13, metric 1 user@ll> show copf neighbor detail

> to 172.10.1.2 via g=-0/0/1.0 m—f;;gsl . Imzjgjieq 15_3;1_:.9 ;DZ - i;; D‘*i‘i
“[Direc:/0] 00:01:10 el M e ——— z
Lk —_ -~
> via ge=0/0/1.0 - nyt
p g=-0/0/t fe-0/0/2 RZ~~
*[Localf0] 00:01:10 ,#'% A ) i, T
Tioeal via ge-0/0/1.0 . 1721011424 172101 3/74 W i
+[O5DE/10] 00:01:10, metric 1 & R fef'f"’f’? \
MultiBecw l 172.20.1.2/24 i
\ OSPFarea0 i
b E*IZ;,.I'I],;:L s
. R3 E -
databaszz *"-\.h -
~.. |00=200200200.200/32 =
~—— -
Area 0.0.0.0 T et i T
Adv HEr Sen Ag= Opt Chaum Len
2.2.2.2 0%80000005 30 0x22 Oxebl0 &0
0.200 200.200.200.200 O0xB0000009 7 0x22 Ox1d42 4B
200.200.200.200 0xB0000005 2 0x22 OxecE2 32

200.200.200.200 Ox80000002 32800 OxZ22 Ox42e=l 32

database

Area 0.0.0.0

Dl Rer Beo fuge Opt Chksum Len

2.2, 2.2 0x80000005 42 0x22 Oxebl0 &0

0.200 200.200,200.200 0x8000000d 3 0x32 Ox1546 4B
200.200,200.200 O0xBOOOOOO0E & 0x22 Oxcatd 32

200.200.200.200 O0x80000005 3600 Oz22 Ox40e2 32

-- Exhibit -Click the Exhibit button.

Referring to the exhibit, you are configuring an OSPF network. All OSPF adjacencies come up and stay stable. But

neither R1 nor R2 has the prefix 200.200.200.200/32 in its routing table.
What is causing this problem?

A. R2 does not have the export policy for prefix 200.200.200.200/32.

B. R1 does not have routes to network 172.10.1.0/24.

C. R2 is BDR on both network 172.10.1.0/24 and 172.20.1.0/24.

D. The router ID of R1 is the same as the router ID of R3.

Correct Answer: D
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QUESTION 2

Your Junos device is dropping certain traffic flows, while allowing other traffic flows to pass through the device
unaffected.

Which CoS component is causing this problem?
A. BA classification

B. RED

C. MF classification

D. Rewrite rules

Correct Answer: D

QUESTION 3

-- Exhibit -user@router> show route protocol bgp detail

inet.0: 20 destinations, 20 routes (19 active, 0 holddown, 1 hidden) 10.222.1.3/32 (1 entry, 1 announced) *BGP
Preference: 170/-101 Next hop type: Indirect Address: 0x15ec944 Next-hop reference count: 3 Source: 1.1.1.1 Next hop
type: Router, Next hop index: 536 Next hop: 1.1.1.1 via ge-0/0/1.0, selected Protocol next hop: 1.1.1.1 Indirect next hop:
14081d0 262142 State: Local AS: 65222 Peer AS: 65221 Age: 2:12 MetriC. 1 Metric2: 0 Task:
BGP_65221.1.1.1.1+56417 Announcement bits (2): 0-KRT 4-Resolve tree 1 AS path: 65221 | Communities: no-
advertise Accepted Localpref: 100 Router ID. 10.222.1.1 -- Exhibit -

Click the Exhibit button.

You are troubleshooting a problem where an EBGP route is not being advertised to your local IBGP peers. You have
received a 10.222.1.3/32 route from an EBGP peer as shown in the exhibit, but the route is not being advertised.

What is causing the problem?

A. The route shows as a hidden route and cannot be advertised.

B. The next hop for the route is indirect and prevents the route from being advertised.
C. The community prevents the route from being advertised.

D. The local preference value is too high for the route to be advertised.

Correct Answer: C

QUESTION 4

You observe that a router is using an unusually high amount of CPU cycles. You determine that continuous SPF
calculations in OSPF are being performed.

What are two reasons for this problem? (Choose two.)

A. The wrong authentication keys between the OSPF neighbors are used.
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B. The interface MTU is mismatched between the OSPF neighbors.
C. There are duplicate router IDs within the OSPF area.
D. An OSPF adjacency is flapping.

Correct Answer: CD

QUESTION 5

-- Exhibit -user@router# show class-of-service

classifiers {

inet-precedence ipp-test {

import default;

forwarding-class best-effort {

loss-priority low code-points be;

}

forwarding-class expedited-forwarding {

loss-priority low code-points af21;

}

forwarding-class assured-forwarding {

loss-priority low code-points afl1;

} forwarding-class network-control { loss-priority low code-points ncl; }}}

user@router# show firewall filter MF { term 1 { from { precedence 0; } then forwarding-class best-effort; } term 2 { from {
precedence 5; } then forwarding-class expedited-forwarding; } term 3 { from { precedence 2; } then forwarding-class
assured-forwarding; } term 4 { from { precedence 6; } then forwarding-class network-control; } term 5 { then accept; } }
user@router> show class-of-service ... Code point type: inet-precedence Alias Bit pattern af11 001 af21 010 af31 011
af41 100 be 000 cs6 110 cs7 111 ef 101 ncl 110 nc2 111 -- Exhibit -

Click the Exhibit button.

Traffic with the IPP value af21 should be assigned to the expedited forwarding queue; however, this traffic is not being
assigned to that queue.

Referring to the exhibit, what is causing this behavior?
A. The af21 traffic is assigned to the assured forwarding queue because of the BA classifier.
B. The af21 traffic is assigned to the assured forwarding queue because of the MF classifier.

C. The af21 traffic is assigned to the best effort queue because of the MF classifier.
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D. The af21 traffic is assigned to the best effort queue because of the BA classifier.

Correct Answer: B
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